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° Jack has 2% kg of potatoes. ° Fill in the missing numerators.

He uses % kg of potatoes.

How many kilograms does he have left?

Jack has kg left. 1 11 11 n 4 4 1

° Complete the part-whole models. glo_4 D 7 p 1 3_11 I:l

a) b)
° Alex and Annie are taking turns playing a computer game.
Annie plays for a total of 2% hours.

Annie plays for% of an hour more than Alex.

-\

How much time do they spend in total playing on the game?

° Complete the part-whole model in two different ways.
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Subtract 2 Fractions

Reasoning and Problem Solving

Sally and Jade are working out the
answer to this problem.

Match the number stories to the correct
calculations.

Rachel eatsgofa pizza. Jenny eats g How £+§=—
much do they eat altogether?
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Rachel eats E of a pizza. Jenny eats E less.

How much do they eat altogether? Sally uses this model.

Rachel eats E of a pizza. Jenny eats Z less.
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How much does Jenny eat?

How many different ways can you
complete the calculations?
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Jade uses this model.
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Which model is correct? Explain why.
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Can you write a number story for each
model?




Subtract from Whole Amounts

Reasoning and Problem Solving

Zoe and Billy have these digits:

UNERENUNE

They are trying to use them to solve:

Callie is subtracting a fraction from a
whole:

= 8

Can you spot her mistake?

What should the answer be?

How many ways can you make the

statement correct? 00
&
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4—=>24+ Billy

Who do you agree with? Explain why




Answers

Subtract 2 Fractions

Reasoning and Problem Solving

Match the number stories to the correct
calculations.

Rachel ea(sgofap\zza Jenny ea(sfZ How 54%:—
much do they eat altogether?

Rachel eatsgoiap\zza, Jenny ea\sg less. £+§=—
How much do they eat altogether?

Rachel eats Z of a pizza. Jenny eats 2 less.
How much does Jenny eat?
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How many different ways can you
complete the calculations?

Children may give
a range of answers
as long as the
calculation for the
Q_s_ Q+Q numerators is

7 777 correct.

Subtract from Whole Amounts

Reasoning and Problem Solving

Callie is subtracting a fraction from a Callie has not
whole: recognised the
- whole number as

@ an improper

fraction. The
Can you spot her mistake?

a4
answer is 2 Z

What should the answer be?

How many ways can you make the

Lots of possible
statement correct? P

Reponses. Check

tors make
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correct.

Sally and Jade are working out the
answer to this problem.
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Sally uses this model.
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Jade uses this model.
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Which model is correct? Explain why.

Can you write a number story for each
model?

Zoe and Billy have these digits:

[ B 6« E

They are trying to use them to solve:

D%Z% Zoe
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[ You can't make it work.

© Y ke it work. ]
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Who do you agree with? Explain why

They are both
correct. The first
model shows
finding the
difference and the
second model
shows take away.

Ensure number
stories show take
away (where
something is
removed) or the
difference
(comparing two
quantities)

Zoe is correct. You
can not place the
digits to make the
calculation correct,
Children could
explore which digit
they could change
to make it correct.



